Purchase of Dental Implants

As the present stock of dental implants is low the quotations were called for purchase of dental implants. The quotations were tabulated and discussed with the concerned staff members. A meeting was held on 25/11/2021 with Mr. Deep from Implantium India Pvt Ltd as their rates were lowest. After negotiations it was decided to buy implants from Implantium India Pvt Ltd as per details given below:

Total No of Implants to be supplied: 210 (210 Superline)

Total No of Abutments: 210

Total Sets of Prosthetic Components: 20

Total Surgical Kits: 2 (One Superline and One NR-Line)

Hex Driver: 2, BAB Abriment doriner, MU driver.

Total Amount to be paid: 900000 (Nine Lac Rupees)

Superline implants can be exchanged with NR Line implants (130 NR Line in lieu of 100 Superline) at any given point of time and Superline kit can be swapped with NR Line kit.

50% payment to be paid at the time of order placement and remaining 50% within 15 days of delivery of Implants.

The company will provide replacement of implants within two days of notification. The drills and kit components carry a lifetime warranty.

Please accord sanction for the sa

Store Clerk

Joint Director

Dentium Company\Rep

Principal

Director June al In

Technical Inputs:

Ramandeep Brar

Dr Nitin Khullar

M mase payed of 4,50,000 in favor of & "IMPLANTIUM INDIA PV7. LTD" or advance "IMPLANTIUM INDIA PV7. LTD" or advance 11

Revider

Respected Sir,

15/03/2018

SANCTION: FOR PURCHASE OF DENTAL MATERIAL / ITEMS

Following dental material is required in the institution. Previously material in list was purchased from CONFIDENT SALES INDIA BANGALORE the dealer has agreed to provide material as per old rates only for following items.

SR.	ITEMS	QUANTITY	COST OF	TOTAL COST	LAST
NO	District Control of the Control of t		UNIT		PURCHASE
1	MIS IMPLANTS + ABUTMENT	28 Pcs	Rs 4275/-	Rs 1,19,700/-	30/10/2017 @ 4275/-
		GST @Inc	Total	Rs 1,19,700/-	

Sanction may please be accorded to purchase the material in list from CONFIDENT SALES INDIA BANGALORE as rates are lowest @ Rs 1,19,700/-

Admn officer

Dr. Incharge Principal 1/3 110

Sandared R 1,19700/2_

SANCTION: FOR PURCHASE OF DENTAL MATERIAL/ ITEMS Following dental material is required in the institution. As we purchase from

CONFIDENT SALES INDIA earlier, rates of following items is lowest;

CONFIDE	owing dental management of the control of the contr	QUANTITY REQUIRED	UNIT	COST	PURCHASE 08/06/2017
Sr No	MIS IMPLANTS + ABUTMENT	.,	1 10751	Rs 1,19,7007	@ 4243/-
					CONFIDENT

Sanction may please be accorded to purchase the material in list from CONFIDENT

SALES INDIA as rates are lowest Including GST+ Freight @ Rs 1,19,700

Store Keeper

Admn Officer

SANCTION: FOR PURCHASE OF DENTAL MATERIAL /ITEMS

Following dental material is required in the institution.Quotations were obtained from various dealers and subsequent to receipt of quotations, Comparative Statement has been made.

As per comparative statement, rate of ORTHO MAX (GUJ) for the following items are lowest.

Sr	ITEMS	QUANTITY	COST OF UNIT	TOTAL COST	PURCHASE
No	Tita Plates	2 Nos	Rs 415	Rs 830/-	20/06/201 7 @500/-
1	Tita Plates 1.5mm- 4h with		CSHOOS A	Rs 2820/	7 @300/-
2	gap Tita Plates	3 Nos	Rs 380/-	Rs 1140/-	"
	1.5mm-4h conti	2 Nos	Rs 500/-	Rs 1000/-	,,
3	Tita Plates 1.5mm- L-90 Big	The second second	(2 As 39) 85.28/	*	
4	Left Tita Plates 1.5mm	3 Nos	Rs 500/-	Rs 1500/-	"
5	L-90 Big Right Tita Plates 2mm-	5 Nos	Rs 500/-	Rs 2500/-	"
6	6h with Gap Tita Plates 2mm-	25 Nos	Rs 415/-	Rs 10375/-	"
	4h with Gap Tita Plates 2mm-		Rs 380/-	Rs 760/-	<i>"</i>
7	4h Conti	•	Rs 1050/-	Rs 6300/-	@1050/-
8	Tita Plates 2mm 3d Shape 2x2H	- 6 Nos	113 1030/		



for Now Dentel Conser

Respected Sir,

29/02/2017

SANCTION: FOR PURCHASE OF DENTAL MATERIAL /ITEMS

Following dental material is required in the institution for Dental Centre Kotkapura. Quotations were obtained from various dealers and subsequent to receipt of quotations, Comparative

As per comparative statement, rate of LAL JI DENTAL ASR for the following items are lowest.

Sr No 1	MOOKOMBIKA DENTAL UNIT –MBK1601	QUANTITY REQUIRED 2 Pcs	1,41000/-	TOTAL COST Rs 2,82,000/-	LAST PURCHASE
		Gst@inc	Total	Rs 2,82,000	

Sanction may please be accorded to purchase the material in the list from LAL JI DENTAL ASR as rates are lowest @ Rs 2,82,000/-

Admn Officer

IRECTOR Vavelmed R 2,82000/

SANCTION: FOR PURCHASE OF DENTAL MATERIAL /ITEMS

Following dental material is required in the institution. Quotations were obtained from various dealers and subsequent to receipt of quotations, Comparative Statement has been prepared.

As per comparative statement, rate of T&G BROTHERS LDH for the following items are lowest.

Sr No	ITEMS	QUANTITY REQUIRED	COST OF UNIT	TOTAL COST	LAST PURCHASI
1	X- Ray Film	15 Pkt	Rs 2145/-	Rs 32,175/-	29/10/201 @1920/-
2	Modelling Wax	100 Pkt	Rs 78/-	Rs 7,800/-	11/10/201 @73/-
3	Straight Handpiece Burs	60 Pcs	Rs 78/-	Rs 4,680/-	08/10/201 @72/-
			Total	Rs 44,655/-	R 65,4 Per
10, 33	A SECRETARIAN AND AND AND AND AND AND AND AND AND A		Gst @12%,18%	Rs 5827/-	Per la
	THE PERSON NAMED IN		Grand Total	Rs 50482/-	

Sanction may please be accorded to purchase the material in the list from T&G BROTHERS_LDH as rates are lowest @ Rs 50,482/-

Store Keeper

Admn Officer

Principals 16)19

DIRECTOR

DIRECTOR

Vauchued R 50, 482/

Guerral R,

SANCTION: FOR PURCHASE OF DENTAL MATERIAL/ ITEMS

Following dental material is required in the institution. Quotations were obtained from various dealers and subsequent to receipt of quotations, Comparative Statement has been made.

As per demand furnished by Dept of Prosthodontics. Kindly Sanction us to by following items from Confident Sales India.

(10+5) foer scheme

Sr No	ITEMS	QUANTITY REQUIRED	COST OF UNIT	TOTAL COST
		10 Pcs +(5 Free)	Rs 2,035/-	Rs 20,350/-
1	Ball Attachment	8 Set	Rs 1,470/-	Rs 11,760/-
2	Double Metal Housing			Rs 32,110/-
		Total		Rs 1780/-
		Vat 5.5%		Rs 33,890/-
SERV.	The second secon	Grand Total		1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1

Sanction may please be accorded to purchase the material in list from Confident Sales India.

as rates are lowest @, Rs 33,890/-

Store Keeper

Admn Officer

16/05/2017

SANCTION: FOR PURCHASE OF DENTAL MATERIAL /ITEMS

Following dental material is required in the institution.Quotations were obtained from various dealers and subsequent to receipt of quotations, Comparative Statement has been made.

As per comparative statement, rate of I.D.S JALANDHAR for the following items are lowest.

	ITEMS.	QUANTITY	COST OF UNIT	TOTAL COST	PURCHASE
Sr No	ITEMS	REQUIRED 5 Cane	Rs 1700/-	Rs 8500/-	26/12/2016
1	Heat Cure Powder 3 Kg Ashwin	5 Cane	Rs 1700/-	Rs 8500/-	09/06/2016
2	Self Cure Powder 3 Kg Heer	5 Cane	Rs 2225/-	Rs 11125/-	09/06/2016
3	Self Cure Liquid 5 Ltr Goey Alginate 450 gm	40 Pkt	Rs 165/- Rs 85/-	Rs 6600/- Rs 4250/-	01/04/2017 26/12/2016 20/01/2017
5	Base Plate Impression Paste	50 Pcs 50 Pkt 5 PCS	Rs 319/-	Rs 15950/- Rs 375/- Rs 55300/-	20/08/2016
7	E.D.T.A		Total Vat 6.25% Grand Total	Rs 3470/- Rs 58770/-	

Sanction may please be accorded to purchase the material in the list from I.D.S JALANDHAR as

rates are lowest @ Rs 58375/-

Admn Officer

1

DIRECTOR Que Come DIES 8375/

SANCTION: FOR PURCHASE OF DENTAL MATERIAL / ITEMS

Following dental material is required in the institution.Quotations were obtained from various dealers and subsequent to receipt of quotations, Comparative Statement has been made.

As per comparative statement, rate of CONFIDENT SALES INDIA for the following items are lowest.

Sr No ITEMS QUANTITY REQUIRED COST OF UNIT TOTAL COST PURCHASE 1 MIS IMPLANTS + ABUTMENT 28 PCS ABUTMENT Rs 4243/- Rs 1,18,804 Rs 1,18,804	Sr No ITENIS	REQUIRED U	NIT s 4243/-	Rs 1,18,804/-	1-1/2017	
--	--------------	------------	-----------------	---------------	----------	--

please be accorded to purchase the material in the list from CONFIDENT SALES INDIA as rates are lowest @ Rs 1,18,804/-

Store Keeper

Admn Officer

Dr. Ingharman Principal 715/17

Jow/suder DIRECTOR Swelmed M 1,18804/ June 1982 June 1982

SANCTION: FOR PURCHASE OF DENTAL MATERIAL / ITEMS

Following dental material is required in the institution. Previously material in list was purchased from CONFIDENT SALES INDIA the dealer has agreed to provide material as per old rates only for following items.

SR. NO	ITEMS MIS IMPLANTS	QUANTITY 28 PCS	COST OF UNIT Rs 4243/-	Rs 1,18,804	PURCHASE 02/05/2017
	+ ABUTMENT		Total	Rs 1,18,804	

Sanction may please be accorded to purchase the material in list from

CONFIDENT SALES INDIA as rates are lowest @ Rs 1,18,804

Store Keeper

Admn officer

Dr. Incharge (6)17 Principal 1216/17

DIRECTOR Savelnied R1,18 804

Langh Gunval So

12/6/2017

28/04/2017

SANCTION: FOR PURCHASE OF DENTAL MATERIAL /ITEMS

Following dental material is required in the institution.Quotations were obtained from various dealers and subsequent to receipt of quotations, Comparative Statement has been made.

As per comparative statement, rate of LIBRAL TRADERS DELHI for the following items are lowest.

Sr No	ITEMS	QUANTITY REQUIRED*	COST OF UNIT	TOTAL COST	LAST PURCHASE
1	Bracket Kits	50 Kits	Rs 1496/-	Rs 7.4,800/-	08/09/2016
			Total	Rs 74,800/-	**************************************
			Vat 5.50%	Rs 4,114/-	
			Grand Total	Rs 78,914/-	

Sanction may please be accorded to purchase the material in the list from LIBRAL

TRADERS DELHI as rates are lowest @ Rs 78,914/-

Store Keeper

Admn Officer

Dr. Incharge 2011? Aprincipal 3.

Swelmed to 78,914/

DIRECTOR

June Wall Suph

7914/

SANCTION: FOR PURCHASE OF DENTAL X-RAY MACHINE(DC)

This is to bring to your kind notice that out of 2 dental X-Ray Machines installed in department of Oral Medicine &Radiology, one old X-Ray machine installed in May 2008 is out of order. This is Indian made X-Ray machine which is handled by students and now all the parts, including the scissor arm has worn out. The machine was Purchased @ Rs 20,800/- and cost of repair might exceed the total cost of machine considering this, it is therefore recommended that instead of repair, New dental X-Ray machine should be procured.

The quotations were received from various dealers and It is recommended to procure DC machine instead of AC machine, the details are as following:-

SR.NO	ITEMS NAME	QUANTITY REQUIRED	UNIT	COO.	LAST PURCHASE 23/04/2018
1	Dental X-Ray Machine (DC)	1 Unit	Rs 70,000/- (Inclusive of GST,Freight	113 / 0/- /	@25,447/-
	. , ,	Gst@Inc	&Installation Total	Rs 70,000/-	

Sanction may please be accorded to purchase the material in the list from MVEE

INTERNATIONAL JALANDHAR @ Rs 70,000/
Store Keeper Admn Officer Dr. Incharge Principal

Principal

DIRECTOR Vaic land 1 7000/
Lyear warranty

(Cost of me original by yours)

M. Raman Asincle May

1) Hertory shede what history of old velay



23/02/2018

SANCTION: FOR PURCHASE OF DENTAL MATERIAL /ITEMS

Following dental material is required in the institution. Quotations were obtained from various dealers and subsequent to receipt of quotations, Comparative Statement has been made.

As per comparative statement, rate of LAL JI DENTAL ASR for the following items are lowest.

Sr No.	ITEMS	QUANTITY REQUIRED	COST OF UNIT	TOTAL COST	PURCHASE
1	MOOKOMBIKA DENTAL UNIT –MBK1601	10 Pcs	1,41000/-	Rs 14,10,000/-	
		Gst@inc	Total	Rs 14,10,000/-	

Sanction may please be accorded to purchase the material in the list from LAL JI DENTAL ASR
as rates are lowest @ Rs 14,10,000/
Nimel Sinth

22-2-18

Store Keeper Admn Officer Dr. Incharge and Principal Distriction

DIRECTOR Suchuel

Ro-t 4,10,000/
Whiteland of from LAL JI DENTAL ASR

DIRECTOR Suchuel

Ro-t 4,10,000/
Cloud keened

Whiteland of from LAL JI DENTAL ASR

On LAL JI DENTAL ASR

DIRECTOR

On Charles

Charles

North Charle

2409.2018

SANCTION: FOR PURCHASE OF DENTAL MATERIAL/ ITEMS

Following dental material is required in the institution. Quotations were obtained from various dealers and subsequent to receipt of quotations, Comparative Statement has been made.

The rate was quoted Rs 300000/- by the company (inclusive of tax, FOR) with 12 month warranty; on negotiation the company ghas agreed to supply the same @ Rs 2,90,000/-(inclusive of tax, FOR) with 2 year warranty:

Sr. No.	ITEM	QTY REQUIRED	RATE	COST		
1.	Piezo Surgical Unit	nit 1 Rs 3,00,000	Rs 3,00,000/-	Rs 2,90,000/-		
	TOTAL (Inclusive of tax)					

Sanction may please be accorded to purchase the items in the list from VILLA INDIA, NEW DELHI @ Rs 290000/-.

STORE KEEPER

ADMN OFFICER

DIRECTOR

Lavelmed

Lavelmed

Logistel by the by

The subject of the by

The s

12/02/2018

SANCTION: FOR PURCHASE OF DENTAL MATERIAL / ITEMS

Following dental material is required in the institution. Previously material in list was purchased from CONFIDENT SALES INDIA the dealer has agreed to provide material as per old rates only for following items.

SR.	ITEMS			-1113.	
NO 1	MIS IMPLANTS + ABUTMENT	QUANTITY 28 Pcs	COST OF UNIT Rs 4275/-	Rs 1,19,700/-	LAST PURCHASE 30/10/2017
			Total	Rs 1,19,700/-	@4275/-

Sanction may please be accorded to purchase the material in list from

CONFIDENT SALES INDIA as rates are lowest @ Rs 1,19,700/-

Store Keeper

SANCTION: FOR PURCHASE OF DENTAL MATERIAL /ITEMS

Following dental material is required in the institution. Quotations were obtained from various dealers and subsequent to receipt of quotations, Comparative Statement has been made.

As per comparative statement, rate of LIBRAL TRADERS NEW DELHI for the (022) to the following items are lowest.

Sr No	ITEMS	QUANTITY REQUIRED	COST OF UNIT	TOTAL COST	LAST PURCHASE
1	Bracket Kit	100 Kit	Rs 1525/- (MRP 15 18001-)	Rs 1,52,500/-	01/11/2017 @1496/-
			Total Gst Inc	Rs 1,52,500/-	

Sanction may please be accorded to purchase the material in the list from LIBRAL TRADERS NEW DELHI as rates are lowest @ Rs 1,52,500/-

Store Keeper

Admn Officer

Dr. Incharge Principal

DIFFECTOR Sanchard LIS 2500/
Primary Land Lis 2500/
Primary Land Lis 2500/
Primary Land Special force has been regarded

for las but MAP is M800/-) my kit

21/10/2019

SANCTION: FOR PURCHASE OF DENTAL MATERIAL / ITEMS

Hollowing dental material is required in the institution. Previously material in list was purchased from DENMED PLANETORIUM INDORE Dealer has agreed to provide material as per old rates only for following items.

				1 11/2 1
SR. ITEMS	QUANTITY	COST OF UNIT	TOTAL COST	LAST
NO			•	PURCHASE
1 Noris Implants with	65 Nos	Rs 3535/-	Rs 2,29,775/-	06/07/2019
Abutment		UNII		@3535/-
1. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1	Gst @Inc	Total	Rs 2,29,775/-	

Sanction may please be accorded to purchase the material above from DENMED PLANETORIUM INDORE as rates are lowest at the cost Rs 2,29,775/-

Store Keeper

Admn officer

DIRECTOR

Sarctord 2, 29775/

setal utiloterlos of hevires stock.

SANCTION: FOR PURCHASE OF DENTAL MATERIAL/ ITEMS

Following dental material is required in the institution. As we purchased from NORIS MEDICAL MUMBAI earlier, rates of following items are lowest;

SR.NO ITEMS	QUANTITY	COST OF UNIT	TOTAL COST	LAST PURCHASE
1 Physio Dispenser	1 Unit	Rs 1,05,000/-	Rs 1,05,000/-	25/09/2010 @93000/-
	Gst @Inc	Total	Rs 1,05,000/-	

With free five implants and five Abutments Worth Rs 3535x5= Rs 17675/-

Sanction may please be accorded to purchase the material above from NORIS

MEDICAL MUMBAI as rates are lowest at the cost Rs 1,05,000/-

基础 描述

Admn Officer

DIRECTOR Saictmed R1,05000/Commarker

1919/2019.

01/01/2020

SAMCTION:- FOR PURCHASE OF DENTAL MATERIAL / ITEMS

recommendation

There is requirement of Dental implants in the institute. As per technical, the quality of implants supplied by LAL JI HEALTH CARE PVT. LTD is superior to the previously used implants. Also clealer is offering 10% discount and in Premium Surgical Kit (F.O.C) WITH OFFER. Rates are

s 8000/- s 4000/- s 1600/- s 1750/- s 1750/- otal	Rs 6,40,000/- Rs 3,20,000/- Rs 19,800/- Rs 21,000/- Rs 21,000/- Rs 10,21,800/-
% Less	Rs 1,02,180/-

@ Per implant cost \$4598/- (All inclusive) ,

The Payment shall be done in 4 Equal installments of Rs 2,29,905/- each first installment after delivery of implants and rest in 3 Post Dated Claques, each at interval of 3 months.

Sanc tion may please be accorded to purchase the material in the list from LAL JI HEALTH CARE PVT, LTD as rates are lowest @Rs 9,19,620/-

·6 x 2.0 x 7.0 = 10 (y 2.6'x 1.0 = 10 . v2.6 x 5.5 = 10

- 5 (log) Pickub 4 (log) = 5

4x2.5 x8.5 = 16 (7. Lang) 4×2.8×7 = 5 (Tit). 5.5×25×725 67.1,

= 10 (Titale m) = 4929 ! = 10 (7)toon.

18/06/2020

SANCTION: FOR PURCHASE OF DENTAL EQUIPMENT

In view of Post Covid situation, following equipment is required in the institution. Quotation were obtained from various dealers and subsequent to receipt of quotations, comparative statement has been prepared.

As per comparative statement, rates of IDS Denmed, Zirakpur for the following equipment are lowest.

SR.NO	ITEM NAME	QUANTITY	COST OF UNIT	TOTAL COST
1	Electric Motor with electric handpiece	1 Pcs	Rs 55000/- Inc of Tax + FOR	Rs 55000/-
	Rs 55000/-			

Sanction may please be accorded to purchase the material in the list from IDS Denmed, Zirakpur as rates are lowest @ Rs 55000/- (all suchished)

19-6-203

Store Keeper

Admn Officer

Dr Incharge

Principal

Joint Director

BIRECTOR

Following dental material is required in the institution. Quotation were obtained from various dealer and subsequent to receipt of quotations, Comparative statement has been prepared.

As per comparative statement, rates of MR ENTERPRISES NEW DELHI for the following items are lowest.

SR NO	ITEMS	QUANTITY	COST OF UNIT	TOTAL COST	LAST PURCHASE
1	Examination Gloves	1000 Box	110 2001	Rs 1,68,000/-	- 5 F (1)(1)(2)
-	Examination 5.55	Gst @ Inc	Total	Rs 1,68,000/-	100

Sanction may be accorded to purchase the material in the list from MR ENTERPRISES NEW DELHI as rates are lowest @Rs 1,68,000/-

92-2-2090

Store Keeper

र्व

Admn Officer

Dr Incharge 20 73 1000

Principal

DIRECTOR

Sanctived A 1,68, 000/

Gureval &

Ph. NO. 01639-250257, 254425 Fax No . 01639-251666



DASMESH INSTITUTE OF RESEARCH & DENTAL SCIENCES Talwandi Road, FARIDKOT

(Recognized by Dental Council of India, New Delhi)

email: dirdsfdk@gmail.com

Ref. DIRDS/PO/1006

Dated 23/11/2021

To,

Medica Enterprises,

Amritsar.

Sub:- Purchase Order for Hemodialysis Machine Modal 4008 SNG with Bibag Make Fresenius

Sir,

We are pleased to place purchase order for your dialysis machine at price & terms mentioned below.

				Rate	Amount
. No	Product Description Hemodialysis Machine	Make Fresenius	Qty 1	6,10,000.00	6,10,000.00
	4008 S-ng with Bibag				6,10,000/-
				GST @12%	73200/- 683200/-
	Total				
2	Delta IN Series 3Kva online UPS	Delta from Shakti Power Solutions Pvt Ltd. Amritsar	1	35400/-	Nil (To be installed free with machine)
			Gross Total		683200/-



PH. NO. 01639-250257, 254425 FAX NO . 01639-251666

DASMESH INSTITUTE OF RESEARCH & DENTAL SCIENCES TALWANDI ROAD, FARIDKOT

Ref. No. DC/P/2021

(Recognized by Dental Council of India, New Delhi)

email: dirdsfdk@gmail.com

Dated: 23/04/2021

To.

Medica Enterprises

Amritsar

Sub: Purchase Order for Hemodialysis Machine Model 4008 SNG with Bibag Make

Fresenius

Sir.

We are pleased to place purchase order for your dialysis machine at price & terms mentioned below.

S.No.	Product Description	Make	Qty	Rate	Amount
1	Hemodialysis Machine 4008 S-ng with Bibag	Fresenius	1	6,25,000.00	6,25,000.00
	4000 3-lig with bibag		GST Total	12% Rs.	75000.00
2	Buy Back of OLD Dialysis Machine Non	Bbraun	1	65000.00	-65000.00 6,35,000.0
	working with all spares/parts included			Net Price	
	Gross Total				6,35,000/

TERMS & CONDITION

1. Prices are GST Extra @ 12% on Dialysis Machine

2. Delivery FOR Site Dashmesh Institute of Dental Sciences and research Institute I Faridkot - Punjab.

3. Payment 50 % Advance and Balance on delivery.

4. Rs 30,000.00 Consumables Free of Cost with Machine delivery

5. Warranty 1 year from date of Installation or 14 months from date of delivery whichever is earlier and Every Year 2 machine Calibration is Mandatory

6. CAMC Cost 48000 Plus Tax after warranty and 5% escalation after every year for five Years Period and Amc cost 20500.00 Plus tax after warranty period and 5% escalation after every year for five Years.

7. In case of Failure Machine Fault will be rectified in 72 Working hours